normalized x?

: [Enties
+ .| Mean 1.043
Std Dev

Entries
_ | ean 1.043
Std Dev

[[normalized x? probability ]

Entries

] . . N N N N N
0. L %
V 2 4 6 8 10 12 14 16 18 20 .
X? Prob 2
=== DQM_CRFFIT_T000&vt )
s DQM_CKFREFit_1000evt
m— DQM_MKFitREFit_1000evt
s DQM_TESTOLHIT._1000evt
s DOM_TESTOLHIT_1000evt-1000t
A 2r = 5
5 g
< A
= -
\ a~
o
\%
ie] ie]
T T
o 4
1 2 3
TP n (PCA to beamline)
A N
s -
el ©
c c
= =
N N
> >
\% \%
iel iel
T T
o4 14
107 107 107
AR(track, jet
g
A
=
[=%
-
o
<o
Vv

Ratio




	Contents
	Page 1


